T |k Sitabae T 1 1
' Problem number |  TAM 224 /[ CEE 210 dC_or_T;.pIet_e |
& Complete problem Statement Jan, 31 2pp3 | | 'fentiication

Prob. .23, A .200r-mm—&)79,canz‘:1euor beam of
eircular cross section is Subjected o a transverse |
force of I0ON at its free end. What minimum
diameter d is required if the deflectson 3 at =
te free end is ot to exceed [0 mm?2 The beam

is made of copper (E= 130 &Pa)

_ .~ Explanatory flgure(s) (even
_So lutton: =—— Clear beglnnlng of solutlon . if not given with problem)
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| 1 T T 1 Explanation of work in

——1 F—t ~ short English phrases
The deflection 8 is given by = S"ortEndishphrases -
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B = % . where T =—é7%_ d-4. |
Thereor s_PLf64 4Pl L
T 3End% T 3pEJd4 Eal

Solving -for 4 Ly:elds

_ Symbolicwsoljuticim | |
o /] 6&PLY =+ HREE
d = R 7 Pore s et e e
St ES Substitution of values |
For #he given information, e |
4= /6 (00X0200%  _ g 04 xisSm |
No more than 31 (130% 10”)(0.010) |
3 significant figures ‘ Final answer
;?“8'04 mm‘F: Correct units ﬁns

This is a minimum Value, since & bwere

Smaller than , 8 in (1) wou e Laryer
tham [0 mm. -~

Discussion




